
MIFACTORI      Über uns Produkte Methoden Bildung Stadt

+  |  3 G  |  I K E G O  |  P R O D U C T S  |  S E AT I N G

GROW – chair

A chair that grows from tiny to tall. Created for Ikego.World. 

From 4 to 50 cm seat height:

Example builds:Example builds:

small

grown

tall

extra tall

Remember: These parts and this structure is a starting point for
all kinds of adaptations and upgrades. Remix however you like.
Add armrests, storage, decoration, functions… Add and share

your version!

Ikego Info

Ikego parts used

120.1 (Rail 300)
102.2 (Tetri Board)
115.1 (Bracket)
095.4 (300mm Elephant Rod)
089.1 (M6 nut)
088.1 (M6 wing nut)
087.1 (M6 washer)
075.1 (Addi-Rail 420mm) / optional
072.1 (Spacer)
030.1 (M6 bolt, ideally countersunk)
+ one new parts, documented below

Meta

Created by: Lars Zimmermann
IP protected: Undecided (date of publication: February 9,
2025) 
Local Makes: Allowed nor now. Please donate 2 EUR per
make to Paypal.Me/Lars2i
Disclaimer: This model is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

GROWGROW is an example of Ikego’s collaborative dynamiccollaborative dynamic. It’s
parts were created by 4 designers and added via other sets. Lars

combined these parts to create something new.

⚘

New part
Cushion roll

Basic InfoBasic Info

What is it: What is it: a cushion roll
Material: Material: soft | standard tolerance 
Dimensions: Dimensions: ~ 300mm long, diameter ~ 65mm | standard
tolerance
Holes:Holes: One center hole with a diameter of ~ 25mm 

Get the partGet the part

Buy:Buy: Available as local make
Make: Make: There are several easy ways to make this part:

PoolNoodles! Take a pool noodle and cut it to size.
Some already have a hole in the center. If not you can
drill it with a milling drill
You can by in hardware stores foam covers that are
supposed to go over piping (see picture with the grey
foam). They come in different sizes. One of the sizes
available in Germany fits perfectly! 
Hint: To make this more durable and more aesthetically
appealing you might put a sewed cushion cover over the
pillow. This would be an extra Ikego part, we did not
add so far. 

MetaMeta

Introduced by: Introduced by: Lars Zimmermann
Open:Open: Shared under IPP 1.0
Disclaimer:Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your

Birte
(viaTetriBox)

Parker
(viaThe

ElephantShelf)

Max
(viaAddi)

Béla
(viaBank

Konfigurator)

C O N TA C T

hello@mifactori.de

.  .

 

S E A R C H

Type and hit enter

I K E G O

We create sustainable
products from open
multipurpose parts.

at Ikego ⤤

S O C I A L

|⊽|  Newsletter *

[ o°]  Instagram

in  LinkedIn

··  Flickr

https://mifactori.de/
https://mifactori.de/category/mifactori/
https://mifactori.de/category/products/
https://mifactori.de/category/theory/
https://mifactori.de/category/workshops/
https://mifactori.de/category/city-hacking/
https://mifactori.de/deutsch/
https://mifactori.de/category/27/
https://mifactori.de/category/3erlin-grid/
https://mifactori.de/category/ikego/
https://mifactori.de/category/products/
https://mifactori.de/category/products/seating/
https://ikego.world/parts/120-1/
https://ikego.world/parts/102-2/
https://ikego.world/parts/115-1/
https://ikego.world/parts/095-4/
https://ikego.world/parts/089-1/
https://ikego.world/parts/088-1/
https://ikego.world/parts/087-1/
https://ikego.world/parts/075-1/
https://ikego.world/parts/072-1/
https://ikego.world/parts/030-1/
https://www.paypal.com/paypalme/lars2i
https://ikego.world/part-design/#tolerance
https://ikego.world/part-design/#tolerance
https://ikego.world/local-make/
https://ikego.world/ikego-public-promise-vs-1-0/
mailto:hello@mifactori.de
https://ikego.world/
https://ikego.world/
http://eepurl.com/gfjH91
https://www.instagram.com/mifactori/
https://www.linkedin.com/company/mifactori/
https://www.flickr.com/photos/larszi/albums/


KONTAKT   |  JOBS |  NEWSLETTER |  NEWSLETTER ARCHIV   |  DATENSCHUTZ

LIZENZ (FALLS NICHT ANDERS VERMERKT):     CC-BY 4.0 (URHEBERRECHT) +  PUBLIC PROMISE   (DESIGNRECHTE)

THIS PAGE IS .NOT. AN ART PROJECT

shown here. All information is provided for your use at your
own risk.

← VORHER

V-Stool
NÄCHSTES →

Flappy Chair

https://mifactori.de/kontakt/
https://mifactori.de/jobs/
http://eepurl.com/gfjH91
https://opencircularity.info/talks/
https://mifactori.de/kontakt/
https://creativecommons.org/licenses/by/4.0/
https://mifactori.de/design-rights/
https://mifactori.de/design-rights/
https://mifactori.de/category/mifactori/
https://mifactori.de/v-stool/
https://mifactori.de/flappy-chair/

